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ATOMIC ENERGY CENTRAL SCHOOL NO 3, MUMBAI
PERIODIC TEST 1 (2025-26) ENGLISH COMMUNICATIVE (101)

CLASS 9 MM: 40 TIME-90 MINUTES

SECTION A - READING (10 MARKS)

Q1 Read the Passage given below.

The quality of education is closely linked to the infrastructure of educational institutes. A well-
developed infrastructure provides a supportive learning environment, enhances academic
performance, and encourages the overall growth of students. However, many schools and
colleges in India, particularly in rural areas, still lack basic facilities.

One key area of improvement is classroom infrastructure. Many students study in overcrowded,
poorly lit, and badly ventilated classrooms. Well-designed classrooms with comfortable seating,
good lighting, and ventilation help maintain student focus and participation. Modern digital
classrooms with smart boards and projectors can also make learning more engaging.

Sanitation and hygiene facilities need urgent attention. Many government schools lack clean and
separate toilets for boys and girls, leading to absenteeism, especially among girls. Clean drinking
water, handwashing stations, and regular maintenance of toilets should be ensured in every
school.

Well-equipped libraries and science laboratories are essential for promoting reading habits and
scientific thinking. Unfortunately, many schools lack these facilities. Access to books and
practical experiments enhances curiosity and creativity in students. Sports and physical activity
areas are also important for a child’s development. Many schools lack proper playgrounds or
sports equipment. Building playgrounds and providing sports facilities can help promote fitness
and teamwork.

In today’s digital world, computer labs and internet access are vital. Students need exposure to
technology and online resources to keep up with modern education standards. To ensure
inclusive education, schools must have facilities for students with disabilities, such as ramps,
special toilets, and learning aids. Safety and security in schools is another priority. Boundary
walls, CCTV cameras, fire safety tools, and emergency exits are important to keep students and
staff safe.

Finally, proper staff rooms, training areas for teachers, and efficient administrative spaces
contribute to the smooth functioning of educational institutions. In conclusion, improving
educational infrastructure is essential for creating a safe, inclusive, and effective learning
environment. With the right planning and investment, we can ensure that every student in India
has access to quality education and opportunities for holistic development.
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Based on the reading of the above passage, answer the following questions by
choosing the most appropriate options. (1 x 10 = 10m)

1. Why is classroom design considered a key area of improvement in educational infrastructure?
A. To reduce the number of students in school

B. To make the school look attractive

C. To create a comfortable and focused learning environment

D. To keep students inside during recess

2. What is the likely impact of not having clean and separate toilets in schools, especially for
girls?

A. Decrease in student enrolment and attendance B. Improved discipline

C. Increased physical activity D. Better sanitation awareness

. How do well-stocked libraries and labs contribute to student development?
. They help reduce the number of teachers required

. They promote rote learning

. They foster curiosity and creativity

OO w» w

. They make students competitive with each other

. What is the main reason for promoting digital classrooms in schools?
. To replace teachers with technology

. To reduce textbook usage

. To reduce electricity consumption

gow» P

. To make learning more interactive and engaging

. Why is infrastructure for students with disabilities important in schools?
. To ensure inclusive education and equal opportunities

. To meet government quota requirements

. To gain media attention

Oowr»

. To reduce the number of students

. How can the lack of sports infrastructure affect students?

. It helps them focus only on studies

. It negatively impacts physical health and stress management
. It reduces noise in school

gow» o

. It improves attendance

. What role do safety and security measures play in educational institutions?
. They increase the cost of schooling

. They create a fear-based environment

. They protect students and staff from potential risks

o w» N

. They reduce teacher-student interaction

Why is internet access and computer education necessary today in schools?
. To reduce the need for books
. To prepare students for the digital world

QO w» x

. To entertain students
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D. To reduce homework

9. Which of the following best describes the aim of improving educational infrastructure?
A. Creating spaces that support learning, inclusion, and safety

B. Increasing the number of staff

C. Building larger school buildings

D. Reducing the number of holidays

10. What combination of improvements would most directly lead to holistic student
development?

A. New uniforms and strict discipline

B. Libraries, sanitation, digital access, and sports facilities

C. Longer school hours and more exams

D. Monthly inspections and regular punishment

SECTION B - WRITING (08 MARKS)
Q2. You are Aarav/Aarushi, a student of Class 9 at Sunrise Public School, Jaipur. Write

a formal letter to your Principal complaining about the frequent power cuts during
school hours which are affecting studies, especially in the summer season. Request
necessary steps to resolve the issue. Mention the problems faced by all, the effects it has,
and suggest some solutions of your own as well. (8m)

SECTION C - GRAMMAR (6 MARKS)

Q3. Edit the following paragraph. There is one error in each line. Identify the incorrect

word and write the correct word in. (1/2 x 6 = 3m)
Incorrect Correct

Reading books are a good habit that helps us grow.

It improves our knowledge and make us think.

People who reads regularly are more creative.

Books also teaches us important values.

In today’s world, we must encourage the youth to reading.

Library should be made more attractive for students.

Q4. Rearrange the following words to make meaningful sentences. (1 x 3 =3m)
1. was /in /the /invention /the /telephone /a /communication /of /revolution /world /the /of

2. is /protect /natural /every /it /responsibility /resources /to /citizen’'s /our

3. their /parents /emotional /children’s /well-being /significantly /affect /can

SECTION D - LITERATURE (16 MARKS)
Q5. Read the extract and answer the questions that follow. (1x4=4m)

A voice so thrilling ne'er was heard
In spring-time from the cuckoo-bird,
Breaking the silence of the seas
Among the farthest Hebrides.

Will no one tell me what she sings?
Perhaps the plaintive numbers flow
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For old, unhappy, far-off things,
20 And battles long ago:

1. The central idea of the poem ‘The Solitary Reaper ’is

a) well sung songs give us happiness b) melodious sounds appeal to all

c) beautiful experiences give us life-long pleasure d) reapers can sing like birds

2. In the poem ‘The Solitary Reaper 'to whom does the poet say, ‘Stop here or gently pass’?

a) to the people cutting corn b) to himself

c) to the people who make noise d) to all the passers by

3. ‘The Solitary Reaper ’'is a narrative poem set to music. This form of verse is called a

a) ballad b) soliloquy c) monologue d) sonnet

4. Why does the poet feel that the reaper was most likely singing sorrowful songs?

a) The poet himself was sad b) The tune was melancholic

¢) The surrounding was dismal d) The reaper was weeping

Q6. Answer ANY FOUR of the following questions in brief. (2x 4 =8m)

1. Could the grandmother succeed in accomplishing her desire to read? How?

2. Small wins help achieve big goals. 'Support, with evidence from the text, to show how this
applies to Chuck.

3. Duke was an extraordinary dog. What special qualities did he exhibit to justify this? Explain.

4. Which road does the speaker choose? Why did he choose that?

S. What “momentous decision” was made by Frost in 19127

6. Why do you think that the poet feels overwhelmed by the song of the Solitary Reaper?

Q7. Answer ANY ONE of the following questions in detail. (4x1=4m)

1. “Good fiction's job is to comfort the disturbed and disturb the comfortable.” How does this apply
to the grandmother after she had finished reading Kashi Yatre? Explain with a reason.

2. Comment on the use of imagery in the poem ‘The Solitary Reaper’ and its impact on the

readers.
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ATOMIC ENERGY CENTRAL SCHOOL - 3,MUMBAI
i ANUSHAKTINAGAR

PERIODIC TEST - 1 (2025 - 26)
CLASS 09 - MATHEMATICS

Time Allowed: 1 hour and 30 minutes Maximum Marks : 40

General Insturctions:-

All the questions are compulsory.

2 mark each, Section C contains 2 questions carrying 3 mark each, Section D contains 2
questions carrying 5 marks each,

10

11

12
13

14
15

16

. Section E contains 2case based questions carrying 4 marks each.

Section A

o (F)
When simplified (256) , IS
a) 8 b) % 0) d) 2
\/\/?:\/‘/112_8 is equal to
a) 8 b) 2 c) 4 d) v2
Which of the following is the value(v11 — v7)(V11 + V7)?
a)- 4 b) 4 ) V7 d) V11

The possible expressions for the length, breadth and height of the cuboid whose volume is given

by 3x3 - 12xis

a) 3%, (3x + 2) and (3x — 2) b) X, (3x + 2) and (X — 2)

C) X, (x +2)and (3x — 2) d) 3x, (x +2) and (x - 2)

The factorisation of 4x? + 8x + 3 is

a) (2x +2) (2x +5) b) (2x + 1) (2x + 3)

c)(x+1) (x+3) d) (2x -1) (2x -3)

The value of the polynomial5x — 4x% + 3, when x = —1 is

a)l b)- 1 c) 6 d)y- 6

The co - ordinates of the origin are

a) (2,0) b) (0,2) c) (0,0) d) (2, 2)
Points (- 4, 0) and (7, 0) lie

a) In first quadrant b) on X - axis C) y - axis

d) In second quadrant
How many linear equations can be satisfied by x =2 and y = 3?

a) three b) many c) only one d) two

If (a, 4) lies on the graph of 3x + y = 10, then the value of a is

a) 4 b) 1 c) 2 d)3
Section B

Simplify:4+/28 + 37
Use factor theorem to show that x* + 2x 3 - 2x 2 + 2x - 3 is exactly divisible by (x + 3).
Name the quadrant in which the following points lie: (i) A(2, 9) (ii) B(-3, 5) (iii) C(-4, —7) (iv)
D(3,-2)

Section C
Factorize: x3 - 3x2- 9x- 5
Find at least 3 solutions for the following linear equation in two variables: 2x — 3y +7 =0

(1)
Section D
If x is a positive real number and exponents are rational numbers,

p\btc-a  c\cta-b , a\atb—c
16 I )

simplify(%;)

. Section A contains 10 questions carrying 1 marks each, Section B contains 3 questions carrying

[1]

[1]

[1]
[1]

[1]

[1]
[1]
[1]

[1]
[1]

[2]
[2]
[2]

[3]
3]

[5]



17 Show that (x — 2), (x + 3) and (x — 4) are the factors of x3 - 3x 2 - 10x + 24

18

19

Section E
Read the following text carefully and answer the questions that follow:
~
10
L -
=
IMiles -
[ < ?D—Destination
S VWater sattion I
= B(3S.4) C(6.4) garden
<2
—
-2 Starting A [ (3.1)
o - = = a = =3 - s o 10 >

Arun is participating in an 8 miles walk. The organizers used a square coordinate grid to plot the
course. The starting point is at A (3, 1).At B (3, 4), there’s a water station to make sure the walkers
stay hydrated.From water station, the walkway turns right and at C (6,4) a garden is situated to
keep walkers fresh. From the garden, the walkway turns left and finally, Arun reaches at
destination D to complete 8 miles.

a).How far is the water station B from garden C? (1)

b) What is the abscissa of destination point D? (1)

c)What is the ordinate of destination point D? (2)

OR

c). What are the coordinates of destination point D? (2)

Anil went to buy some vegetables, he bought ‘x” kgs. of tomato and ‘y’ kgs. of potato. The total
cost of vegetables comes out to be of Rs. 200. Now if the cost of 1 kg of tomato is Rs. 50 and 1 kg
of potato is Rs. 20, then answer the following questions.

(i) Which of the following equations represent the total cost.

(@) 5x—-2y=20 (b) 5y + 2x =20 (c) 5x +2y =20 (d)2x + 5y =20
(i1) If Anil bought ‘x’ kgs of tomato and 2.5 kgs. of potato, then find the value of ‘x’.

(@5 (b) 2 (c)3 (d) 4

(iii) The graph of 5x + 2y = 20 cuts x-axis at the point.

(@) (10, 0) (b) (4, 0) (c) (0,0) (d) it is parallel to x-axis

OR

(iii) The graph of 5x + 2y = 20 cuts y-axis at the point.

(@) (0, 10) (b) (0, 4) (c) (0,0) (d) it is parallel to y-axis

(2)

[5]
[4]

[4]
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ATOMIC ENERGY CENTRAL SCHOOL-3, MUMBAI

PT1 2025-26
CLASS: IX DURATION: 1 Hr.
SUBIJECT: ARTIFICIAL INTELLIGENCE MAX. MARKS: 25

ANSWER THE FOLLOWING (2 marks

1. Which of the following is not a type of nonverbal communication:

a) Facial expression  b) posture c) gesture d) group discussion
2. Which of these can make a communication fall?
a) Noise b) prejudice c) cultural differences d) all of the listed options
ANSWER THE FOLLOWING (1 mark each)
3. is known as father of Al
4, is a self-driven car.
5. is the language commonly used for Al programming.

6. Pattern recognition is a part of which Al domain?

7. is a social humanoid developed by Hanson Robotics.
8. Google lens is an example of domain.
9. Chatbot is a part of domain of Al

10.Al can exhibit human emotions as of now. True or False?

11. NLP stands for ,in Al

Answer the following. Any one. (2 marks each
11. Differentiate Verbs and Nouns.

12. Discuss any one advantage and one disadvantage of non-verbal communication.

Answer the following. Any 2 (2 marks each)

13. What is AI? Define.
14. Differentiate between Al and NON —Al machines.
15. Identify the domain of Al of the following games:

1) Rock Paper, Scissors  2) Semantris 3) Quickdraw 4) Akinator

Answer the following. Any 2 (4 marks each)

16) Explain any two advantages and any 2 disadvantages of Al, which you see around you.

17) Draw out the difference between the three domains of Al with respect to the types of data
they use, with the help of an example each.
18) Explain the Al project cycle with the help of a diagram.
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ATOMIC ENERGY CENTRAL SCHOOL - 3,MUMBAI

ANUSHAKTINAGAR

PERIODIC TEST - 1 (2025 - 26)
CLASS 9 - SOCIAL SCIENCE
Time : 90 minutes Max. Marks: 40

General Instructions:

1. The question paper comprises 19 questions. All questions are compulsory.

2. Questions number 1 to 10 are MCQs of 1 mark each.

3. Question no. 11 and 12 are Very Short Answer Type Questions, carrying 2 marks each.
4. Question number 13 to 15 are Short Answer Type Questions, carrying 3 marks each.

5. Question no. 16 is the case based question with three sub questions and is of 4 marks.
6. Questions no from 17 and 18 are long answer type questions, carrying 5 marks each.
7. Question no. 19 is map based, carrying 3 marks.

8. There is no overall choice in the question paper. However, an internal choice has been
provided in few questions. Only one of the choices in such question has to be attempted.

Strength lies in unity is portrayed by which political symbols?

a) Scepter b) The Law tablet
1 | c) The bundle of rods or fasces d) The broken chain [1]
2 | Reign of Terror ended with the end of which person? [1]
a) Robespierre b) Napoleon
c) Louis XVI d) John Locke
3 | Taille was to be paid directly to? [1]
a) Kings b) State
c) Landlords d) Church
4 | The southernmost point of the Indian mainland is [1]
a) Kanyakumari b) Rameswaram
C) Indira Point d) Thiruvanthapuram

5 | If you intend to visit Port Blair, which of the following Union Territories of India [1]
you will be going to?

a) Puducherry b) Lakshadweep
c¢) Chandigarch d) Andaman and Nicobar
6 | What is the significance of the right to freedom of speech in a democracy? [1]

a) It allows citizens to criticise the government without consequences
b) It ensures that government can control public opinion

c) It grants unlimited power to the media

d) It limits the power of the judiciary.

7 | Multiple cropping means growing [1]
a) up to four crops b) only three crop

C) Growing different crops at the same time on the same piece of land
d) more than one crop in a year on the same piece of land

8 | Democracy improves the quality of decision - making because: [1]
a) Decisions are taken over a long period of time
b) Decisions are taken by consultation and discussion




c¢) All decisions are approved by judiciary
d) Decisions are taken by educated people

Which one of the following is a demerit of democracy?
a) Free and fair election b) Democracy leads to delays in decision making
c) Rule of law d) Equality

[1]

10

Assertion (A): Land distribution is highly uneven in Palampur.

Reason (R): Land is distributed according to the hard work and efforts a farmer
puts in.

a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.

c) Ais true but R is false.

d) A'is false but R is true.

[1]

11

Distinguish between working capital and fixed capital.

[2]

12

Mention any four demerits of democracy.
Or
What is representative democracy?

[2]

13

The sun rises two hours earlier in Arunachal Pradesh as compared to Gujarat in the
west but the watches show the same time. How does this happen?

[3]

14

Explain the legacy of the ‘French Revolution’ to the world society.
Or
Explain the ‘rule of Directory’ in France in 1794,

[3]

15

Mention some harmful effects of using modern methods of farming.

[3]

16

Read the following text carefully and answer the questions that follow:
The landmass of India has an area of 3.28 million square km. India’s total area
accounts for about 2.4 percent of the total geographical area of the world. India is
the seventh - largest country in the world. India has a land boundary of about
15,200 km and the total length of the coastline of the mainland, including Andaman
and Nicobar, and Lakshadweep, is 7,516.6 km. India is bounded by the young fold
mountains in the northwest, north, and northeast. South of about 22° north latitude,
it begins to taper and extends towards the Indian Ocean, dividing it into two seas,
the Arabian Sea on the west and the Bay of Bengal on its east. The latitudinal and
longitudinal extent of the mainland is about 30°. Despite this fact, the east - west
extent appears to be smaller than the north - south extent. From Gujarat to
Arunachal Pradesh, there is a time lag of two hours. Hence, time along the Standard
Meridian of India passing through Mirzapur is taken as the standard time for the
whole country. The latitudinal extent influences the duration of day and night, as
one moves from south to north.

1. What is the value of the Standard Meridian of India? (1)

2. How far does the mainland’s coastline extend, including the Andaman and

Nicobar, and Lakshadweep Islands? (1)
3. What is the India’s mainland latitudinal and longitudinal extent? (2)

[4]

17

Describe the main features of the constitution of 1791.
Or
What were the main causes of the French revolution? Write in detail.

[5]

18

Write major features of democracy.
Or
Why democracy is considered the best form of government?

[5]

19

On an outline map of India label and locate the following ( any three)
A. The Standard Meridian of India B. Palk Strait
B. The Southern neighbour of India C. The capital of Madhya Pradesh

3]
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PERIODIC TEST - 1 (2025 - 26)
CLASS 09 - SCIENCE

Time Allowed: 1 hour and 30 minutes Maximum Marks : 40

General Instructions:
This question paper consists of 14 questions in 5 sections.

1.

All questions are compulsory. However, an internal choice is provided in some
questions. A student is expected to attempt only one of these questions.

Section A consists of 3 objective type questions carrying 1 mark each.

Section B consists of 3 Very Short questions carrying 02 marks each. Answers to
these questions should in the range of 30 to 50 words.

Section C consists of 3 Short Answer type questions carrying 03 marks each.
Answers to these questions should in the range of 50 to 80 words.

Section D consists of 2 Long Answer type questions carrying 05 marks each.
Answer to these questions should be in the range of 80 to 120 words.

Section E consists of 3 source - based/case - based units of assessment of 04
marks each with sub - parts.

Section A

What would be the displacement of a particle moving in a circular path of radius r after a
displacement of half a circle?

a)m b) 2r c) Zero d) 2r

[1]

What happens to a plant cell when it is placed in a hypotonic solution?

a)lt shrinks b) It swellsup c)ltremains the same d) It dies

[1]

A desert cooler gave comfort due to cooling caused by the evaporation of water. Under
which one of the following conditions it work more effectively?

a) On a rainy day b) Hot and dry weather

c) Hot and rainy weather d) A hot and humid day

[1]

Section B

Why does steam cause more severe burns than boiling water at the same temperature?

[2]




5 | What is the function of Endoplasmic Reticulum in cell? [2]
6. | An object travels 50 m in 8 sec and then another 50 m in 2 sec. What is the average speed of | [2]
the object?
Section C
7 | Suggest which of the vessels A, B, C or D in Fig. will have the highest rate of evaporation? [3]
Explain.
OR
Distinguishbetween :Liquid state and gaseous state.
8 | Define a) uniform motion b) displacement c) average velocity [3]
9 | What is prokaryotic cell? Differentiate between prokaryotic cell & eukaryotic cell? [3]
Section D
10 | What are Plastids? Write the functions of Plastids. Write one similarity between Plastids [5]
and Mitochondria.
11 | A car accelerates from 36 km/hr. to 54 km/hr. in 5 seconds. What is the acceleration and [5]
how much distance is covered in 5 seconds?
Section E
12 | Read the following text carefully and answer the questions that follow: [4]

The minimum temperature at which solid melts to become a liquid at the atmospheric
pressure is called its melting point.The energy supplied by heat overcomes the forces of
attraction between the particles. The particles leave their fixed positions and start moving
more freely. A stage is reached when the solid melts and is converted to a liquid. The
process of melting, that is, change of solid state into a liquid state is also known as
fusion.The temperature of the system does not change after the melting point is reached, till
all the ice melts.

1. Define fusion? (1)

2. What is melting point ? what is the melting point of Ice? (1)




3.  What is latent heat of fusion? (2)
OR

What do you mean by latent heat? (2)

13

Read the following text carefully and answer the questions that follow:

Leeuwenhoek discovered the free - living cells in pond water for the first time. Robert
Brown discovered the nucleus in the cell. A single cell may constitute a whole organism as
in Amoeba.These organisms are called unicellular organisms.On the other hand, many cells
group together in a single body and assume different functions in it to form various body
parts in multicellular organisms.The shape and size of cells are related to the specific
function they perform.Each living cell has the capacity to perform certain basic functions
that are characteristic of all living forms.Each kind of cell organelle performs a special
function, such as making new material in the cell, clearing up the waste material from the
cell and so on.

1. Who first discovered cells? (1)

2. Is Chlamydomonas a unicellular or multicellular organism?(1)

3.  Who suggested that all cells arise from pre - existing cells?(2)
OR

Which organelle a) clears up waste material from cell (b) Is protein factory of cell

[4]

14

A car is moving on a straight line road with uniform acceleration. The [4]
given graph of speed versus time is drawn at various instant of time.
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i) From the given graph, determine the speed value at t = 35 seconds.

[1]

ii) Find out the distance travelled by the car in 50 seconds. [2]




iii) What is the acceleration of the car? [1]




